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3. Answer all questions.

4. Al questions carry equal marks.

5. Only one answer is to be given for
each question.

6. If more than one answers are
marked, it would be treated as wrong
answer.

7. Each question has four alternative
responses marked serially as (A),
(B), (C), (D). You have to darken only
one circle or bubble indicating the
correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

8. Use of Mobile Phone/Bluetooth
Devices or any other electronic
gadget in the examination hall is
strictly prohibited. If any such
prohibited material found with any
candidate, strict action will be taken
against him/her as per rule.

9. If there is any sort of ambiguity/
mistake either of printing or factual
nature in Hindi and English Version
of the question, the English Version
will be treated as standard.

Warning : If a candidate is four_ld

copying or if any unauthorized material

is found in his/her possession, F.I.R.

would be lodged against him/her in the

Police Station and he/she would liable

to be prosecuted under Section 3 of the

State Prevention of Unfair means Act,

1992 and Board Regulations. Board may

also debar him/her permanently from all

future examination of the Board.
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1 The term 'Samela’ is used &
in Rajasthan ? ’
(A) At time of Death
(B) At time of Birth
(C) At time of Marriage® 4
(D) At time of Gauna e ‘ﬂ'ﬂ
T & TR g7 AT

¥? g
AT rwm B
©) frre % wg (D) sidered 85
con

2 Which folk hero's fair 1S

a7
symbol of 'Religious goodWill

(A) Ramdevii (g)) Ea?alilji] cﬂ

(C) GOga_]] (  Teja ; |
, (A) TSt (B) qrgal

SRLL (D) T

3 "Languriya Dance" is famous attraction ©
which fair of Rajasthan ?
(A) Jeen mata Fair
(B) Sheetla mata Fair
(C) Karni mata Fair
(D) Kailadevi mata Fair
i g o e a1 g @ ¢
(A) Fromrar der  (B) w3
(C) Feohren wer . (D) el A

4 Who was the Architect of Chittor during

the reign of Maharana Kumbha ?

(A) Nihalchand (B) Mandan

(C) Vidyadhar (D) Deepak

HETUN P & STTEeTa- | e &1 arqen
B o1 7
-(A) MeEma= (B) Tuss

(C) feramert (D) gy

5 How many "Riyasatein" and "Thikane" were |
present before unification of Rajasthan 9 ‘
(A) 20 Riyasatein, 3 Thikane . ‘
(B) 18 Riyasatein, 4 Thikane ‘
(C) 15 Riyasatein, 6 Thikane
(D) 19 Rgasatein, 3 Thikane
TSTHEM & THHT qd :
(A) 20 T, 3
(B) 18 Tamd, 4 fomm
(C) 15 R, 6 fommy
(D) 19 T, 3 foamy
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Match List-1 with List-11

corr ec.t answer using the cod
List-1

and selegy the
CS given be|oy:

_ "¢ List-11
Sanctuarijes SN pd) i
Nationa] Palfk : : o5
(1) Sitamata (@) Alwar
(11) Sariska (b) Bharatpur
(iif) Kailadevi (¢) Pratapgarh
(iv) Keoladeo (d) Karauli
egh—lzﬁg;ﬁ-nﬁgﬁﬁaaﬁﬁﬁw%&ﬁ
T T BT T AT T T g -
-1 -1
T | TG TR ey
(i) S () S
(ii) aften (b) WTag
(il Sy - (©) ST
(iv) Fewa (d) B
Codes / 2 : ‘
G) (i) (iii) (iv)
(A) (@) () (b (o)
B) (c)- (@) (d) (b)

(©) @ @ (© ®
D) (d) © ) (@)

7 -Match List-I with List-11 and select the

correct answer using the codes given below:

List-I List-11

Wild life sanctuaries District
(1) Ramgafh Vishdhari (a) Churu
(i1) Jawahar Sagar (b) Dholpur
(111) Tal Chapper (¢) Bundi
(iv) Van Vihar (d) Kota
gl a1 g1l & gifve R o 9 R
T g B FAN H FE IAR G

-1 -1l

T WA HHEAY o
(i) e fawerd (a) I&
(i) STaTEY G (b) &YX
(iii) T BT (c)
(iv) s faer (d) @
Codes / %2 :

(1) (i) (i) (iv)
A) @ (© (b) (a)
B) (©) (@ (b) (a)
(C) (&) (b) (¢) (d)
(D) (¢) (d) (a) (b)

P.T.0.
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@ From whert did the Bhil relateq actiV'i[,ic?
of Motilal /"Tejawat ““'Ough the E
Movement start ?

(A) Dungarpur (B) Jhadole

(C) Udaipur (D) Neemdy
AT & meET ¥ Reg T i !
(A) TR (41 (B) s
(C)Gz'qg'{‘i‘}‘ (D) Hrey

9 Chitrasha_l__ii_.t.iln the Bundi palaces 15 a
contribution of which ruler 9 .
(A) Maharao Chhatrasal
(B) Maharao Ram Singh
(C) Maharav Umed Singh
(D) Maharao Kishore Singh

;@mﬁﬂﬁﬁammmamzaﬁ'
? :
7 (A) TeTU9 wg™ (B) 7ertrg 1 fi€

(C) 7o oz R (D) werg fgire i€

10 In which language did Kesarj Singh
Barahath write 13 Sorthe (couplets) 0
Mewar Maharana ?

(A) Both Pingle and Mewari
(B) Pingle
(C) Dingle
(D) Mewari
SHTE qEs 3 Hars qermm @ 13 6 [
qT § for@s? A g 7
> (A) e 3t Bardl 3
(B) firer
(C) B
(D) 7t

11 The founder of Niranjani Sect was
(A) Sant Ramcharan (B) Sant Ramdas
(C) Sant Niranjandas (D) Sant Haridas

e duer & Hwnge g
(A) ga oI (B) €9 e
. (C) ¥a FismE™ (D) g@a shem

12 From where rebellion was started in
Rajasthan ?
(A) Aauwa (B) Kota
(C) Neemach (D) Nasirabad
TS ¥ ferera el oW g o1 7
(A) o (B) @1

. (C) A= (D) e

[79P3] W

16

T —e e

N

aperor built the famous temple of

33 \F[;Iﬁglf [;t Udaipur ?
B lKumbha (B) Bappa Rawal
(é\)) Jaisingh ’ (D) Mokal
Rere THRATSN AT o1 frafor fpy wrereol
am er ?
TA?;TWE (B) Twr e
' ©) i (D) Arehe
which Bikaner king accepted subordination
14 { Mughal Emperor Akbar ?
0!\) Rao Bika (B) Rao Lunkaran
EIC) Rao Ka]yanmal (D) Rao Raisingh
ot AHTT T A G FHIE FbT A el
@ 7
ﬁ;ﬁga 4 . (B) T T
(C) T HTITH (D) 7@ TaftE
15 Who is considered the author of 'Rajasthan!
Ramayana' ? .
(A) Sitaram Seksariya
(B) Sahajobai
(C) Samarthandas Manishi
(D) Samaysunder _
TSR TTIST T TEATebTY feh8 AT ST @ ¢
(A diarm gaater  (B) gEeETs
(C) gadsgE T (D) F9ag=e
Where is Nogari' jewellery worn ?
(A) Leg (B) Throat
(C) Head (D) Hand
ST ARG STEOT hEl TR S ¥ 7
. (A) T (B) e
(C) R (D) &%
17 On 14" February, 1948 the Government of

B T o i e R _. -

India took the Authority over the
administration of Bharatpur, who was
appointed the administrator of the State of
Bharatpur ?

(A) S. N. Sapru (B) V. P. Menon

(C) Shobharam (D) Udaybhan Singh
14 B3adl, 1948 @t Wi TeaR 3 g vomEs

T SHYBI BT WTAYR T B GITED e
Prae fpar o 2

(A)T§. wm. gy (B) &1, &, &

(©) st (D) seawH Riz
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18 '‘Desert Dey
funded by -eloPmem Programme' is being
(A) In the ray;
Gowt. Hibw
B) 100
@130 b G of
D 7 ovt. of India
(D) 75 gzicent_ by Govt. of Ingiz: and
- cent b?’ Govt. of Rajasthan
. Siaaﬁ_"ﬂ &1 {9 diwr ear ¥ -
(A)50:50 % I F Y g
(B) 100 9ot tromems avem ALY -

f50:50 by both of the

(C) 100 wfgsrg g
HIh

AR g

19 'Khas' grass oro istrict ]

(A) A]'war, [g)rhc:T;u(i}SItéﬁiﬁ 11‘ R
(B) Jalpur._ Alwar, Ajmer

(C) Bhilwara, Ajmer, Chittorearh

(D) Tonk., Sawai Madhopur, Eharalpur
TS ¥ @8 o s e & -

(A) R, d@qr, Hi

(B) AR, 9T, T

(C) WiwareT, s, fa<deTe

(D) &, ward Arehyy, wEAgR

{i\rrange the following districts of Rajasthan
in correct order from East to West :

(1) Bundi, (2) Ajmer, (3) Pali, (4) Barmer
TR % Frttad e @ qd & afed @
3 9E %H ¥ Hanyd &1 :

(1) g8, (2) o=m@T, (3) gell, (4) T
(A) (1), 3). (2). (49 B) (1), (2). 3)s (4)
(C) (2). (1). (3). (4) (D) (1), (2),(): (3)

20

21 Which of the following some breeds are |
Magra, Pugal and Sonadi ?
(A) Buffalo (B) Goat
(C) Sheep (D) Camel |
LR Waﬂ“{@ﬁ@,ﬁﬂﬁﬁﬁﬂﬂ%@@ﬁ |
g7
(A) ¥4 (B) gl
(C) %= (D) &2

23 Which of the following is not a cause of

desertification in Rajasthan ?
(A) Over Ploughing (B) Over grazing
(C) Over population (D) Organic farming

freg & @ @ |1 (o § HORAH 6

B0 TE € 7

(A) st TS (B) a&tfar =mm

(C) s sty (D) Sfad Fi
l79P3 [ | 4

23 In  which

i LeiSaD

cantonmenf were  Major
d Col. New‘b‘ury killed during

Spotiswood an
£1857 77

the revolution ©

- (B) Nimach
%8 %23:{,;”’“‘ (D) Nasirabad
18572 ity & T Ty EATS T Heq
qarl A e B8 e A T A 7
(A) B AB)

24 Whichiof the following '¢g§@re e R
as Bagas cultur® ? o

(A) Diishadwat! cultur

(B) Ahar cultur®

(C) Saraswatl culture

awat] culture
(D) Dyt o ot s g s
aar & _
o g wigt () /AN
© weed vt (D)

25 In wh[f:h place lhlf
1 Was ‘ema € i
(S/ir)]%a::: “ (B) Mandalgarh

(C) Kumbhalgarh (D) Khanva

mw%qmﬁ—{wmwmw

g feem T 7

(A) ggan

(C) FreTe
26 DLlriﬁg the revolution of 1857 in Kota, where

were. the prominent leaders Jaidayal and

Mehrab Khan residents of respectively ?

(A) Kota, Jhalawar (B) Mathura, Dholpur

(C) Mathura, Karauli (D) Dholpur, Kota

1857 &) wifa & G99 BT § TH@ a1 T

ao1 YeTa @ HA: HEl & e g 7

(A) &=, FwEs AB) 99, €T

(C) wg, Fh (D) Hiegy, Bt

dead body of Maharana
lj

/(_B) CIERE
(D) @rdat

| 27 Who was assigned responsibility for signing

treaties’ between Rajput States in 1818 by
(B) Metcalfe

(C) Lord Wellesley

fafeer @rae 7 fpRr wiar em ?

{A) T ST et (B) TEHT®

British ‘Company ? , ;
A

(D) Cornwallis ‘

(OKIEEERE (D) wrattad

(A) Sir 'George Barlow
1818 ¥ TSIga Wi § Wierat s o ST
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.., of the following_ natural disasters
2 whic ]the least probability to occur in
e

28 Which of the following groups ;. e || 3% pav 5
correct sequence of mg . “Present ‘ iqsthan ?
Rajasthan qin. descendingurgfégt peaks f_l'{ ! RaiaE arthqu.ake (B) Flood
heights? Sr of the (A Tsunami (D) Drought
(A) Jarga. ‘G‘o‘bgunda? Taragar,_ I‘{Ch h ©) & @ a1 'ﬂ'@ﬁﬁi AT ST o gfed
(B) Gogunda. Achalgarh, Jarga, . algarh e o =IaH S TEd & 7
([C); ?er. Jagga. icgaigarh, Taras é;lragar ) 5""3') e (B) s
(D] arga, Ser. Achalgarh, Tal‘ag""a' (A D
wﬁﬁﬁ?mwmﬁﬁg}%ﬁa}ﬁﬁ (C)E‘"‘“ . ( )E@T o
B TSB! S B FTET T8 LY e 37 mich of the following districts in Rajasthan
(A) 5w, =T, anrre, TR - - 13 Wh'l maximum forest area ?
(B) =1, sraemme, som, dmome | a"eU daipur (B) Jodhpur
AC) T, wram, s, e | (A)J P (D) Banswara
(D) srom, &2, smaems, anpre <o | g;;lgﬁqmﬁﬁuwﬁmaﬁw@ﬁ
29 In Rajasthan 'Trikal' is relateq ;- ¥ 7
éé)) g'ater. Grass and She]te?d Fc\' ) | zf?gjug (B) Sergx
) Unemployment, Water and ... | qEdTST
(C) Cereals, Water and Animgl'%r:gs (C) sAgt (D), .‘ /
(D) Animal feed. Unemployment gpq Cereals || Which of the following mineral in Ra_;a_sthaﬂ
TI™ ¥ e &1 g9y & ; | 34 don't have monopoly with respect to mineral
(A) =iet, =19 U mamg wealth in India ?
(B) R=mmrdY, W@ wd mg (A) Lead (B) Zinc
-(C) 3141, ECRCle i g (C) Petroleum (D) Marble
(D) =@, SOl U9 e o | g & @fe awEret & g Tewe
30 In which region of Rajasthan Alfisols group | ¥ 4 @ @ @ qrEr #§ usiiaer T8 TEdl
of soil is found ? ' . 3
(A) Kota. Bundi, Bharatpur | (A) B (B) wre
(B) Jaipur. Alwar, Dausa f AR T
(©) Jaigalmer. Barmer. Pali : (©) (D)
(D) Udaipur. Sirohi. Pali 35 Which city will be provided drinking water
TSI % (58 9391 § ey TYE & gaT from Mansi Bakal Project ?
e 27 | (A) Jodhpur (B) Rajsamand
(A) e, g8, 9yl (C) Pali (D) Udaipur

(B) @9z, sray, drem
(C) Wnaw et
(D) S=ggy, 16E, gl

Al aThe uide ¥ R 9T @l Yaed
T fopam smom 7

(A) STregT (B) TSEE=<
(/3?? Which of the following is not correctly (C) et AD) 3
~ matched ? _ . 36 The pair of districts benefiting from 'Kanwar
Main River Tributary River Sain Lift Canal' is -
(A) Chambal - P el , (A) Churu and Jhunjhunu
(B) Sabarmati 3 ;‘ﬂral]f i (B) Bikaner and Ganganagar
(C) Mahi - Aa{I; 4 (C) Bikaner and Nagaur
,{D ) I:f“y 7 2 s 5 (D) Jaisalmer and Jodhpur
Wq“ﬁqmwwmgﬁ HITE forve e g wiRed R g ¥ -
S = - (A) e she g
(A) T/ = WG (B ;
(B) T Jn— B) di@r s s
(D) - o | (D) i g

79P3| W | :
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37 Which of the following croPP* 1,

in wet southern eastern plai”
region of Rajasthan ?

(A) Rice - Wheat - Soyabea™

(B) Cotton - Mustard - BaJ"™

(C) Jowar - Makka - Bajra ut
(D) Cotton - Makka - Ground” %
Pt & & i e e, T ol
T o frardl pfy—rerg T 7
(A) T -~ A - g

(B) &y - ge|i — awd

AC) S — wapr — A
(D) BT — o — HE

38 The lowest air pressure in the M2 oif
in Rajasthan is probable in the d!
(A) Udaipur (B) Nagaur
(C) Jhunjhunu
ST ¥ S H1e & e TG0
(A) STagT (B) A

(D)

©) g3 =
z 1 S

39 In Rajasthan, which of the following distric
, - | prob]el‘l'l

zﬁf“g’?

nth of Jun€

are badly affected by the ecologica
of 'SEM' ?
(A) Bharatpur - Dhaulpur
(B) Banswara - Dungarpur
(C) Jalore - Sirohi
(D) Shriganganagar - Hanumangarh
TR F frfeiad & @ @ | B
g 9§ ooy yeed € 7
(A) HTIYX — iyl

-(B) F@areT ~ $MYL
(C) St — fare
(D) T~ EJHTe

40 Which pair is not correctly matched ?
Airport City
(A) Kota Airport Kota
(B) Maharana Pratap Airport — Udaipur
(C) Nal Airport Bikaner
(D) Suratgarh Airport -IOdhpur
i |1 g A gafdd T8 § o
e

(A) BT &g TS
(B) WETUOT JaTq g4 aresy
(C) T zarE a7
(D) qTaTE = orgEl

(79P3] m

I

ic[ Of- |

(D) Jaisalmg‘am_aﬁ |

s

.

M Rclatlonship between phigse current

f:three phase delta

connection ig - i
e 8 Sl
W e o 1 e (

I
(A) 1, = Lo

-
J

L) # (

N

L& T .
} ) ph“’\/gf;_ (D),JPI?:IL ,

42 What 1s the fre s //
shown below ?rbquency of the waveform'y
V /

r

0.02 Second

[ I 7 > Time
\L/

B o & v i 2o '
AgRT Fm By 7 c"’%?,?&?ﬁ'ﬂaﬁ :
o ‘ 2l
v/ p
(A) 75 Hz .(B) 50 Hz
(C) 100 Hz (D) 25 Hz
| 43 When three 10 ohm resistors are connected
| in star across a 400 Volts A.C. 3-phase
supply, each resistor must have a power
rating -
(A) 16000 W (B) 5290 W
(C) 5333 W (D) 4600 W'
a, lomqﬁiﬁatrhﬁﬁwﬁrwﬁam
T ¥ @t 400 deedt T o ST amgfef A e
T ydE AR &l oTfér YT BT onasE® & -
_(A) 16000 @12 (B) 5290 @M<
(C) 5333 @ (D) 4600 a1 w/‘@f’
yoor . : 4},‘,%
6 |0 _.\,J—/ = \©

Q
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44 llln a lIhrcL it Msulage, s the unit of El(g:)trll’irggrrem k
°C lOWest upj; ; 8 v what !
is > Yoltay,, 8 Jom
” L”IILlcncy fal 8'4-28"]7 kv, £e acrogs (| 4 (A)Sz\iwn (E[:])%ﬁ%m?ere
A UCTross the g 7% The String (C) =l gﬁ'{' Ll '
(A)442.5 oy 8 Will be gy ™ voppee o (B) %=
" 3 i ! 2 T . '
(C) 88.25 y ' Eg; 8.825 A E (D) uftmat
qgﬁ?ﬁ? iz T s 4;.25 ky ©) I‘S he potential difference ? '
{ 3\4 5 27 4 ?I\Rt-n 17.5 ai.é'ﬁ " H?:r@; iy et || 49 'wha[l)jlj-‘fbreﬂcc of Capacitance between two
3/ " R R / ’i@mﬁh T st | A3 points. f Potential between
2 qT Ao e he difference of Fotential betwee
M _ : 9 St O It is the G0 e
O SQ(A) 442.5 & & vl fe ~(B) vo points in an electric mrcull.l
N * 4l P tw 4 t the t
Y (C) 88,25 & (B) 8825 * JC) Differencs of Current between the two

any where

(B) in serjeg with the
in phase

(C) in neutra Wwire

(D) in earth wire

Clreuit tq € Proteced / |

46 The basic purpose of earthing is - |
(A) to stop current to flow in circuit
(B) to avoid faults

(C) to allow current to flow in circuit
(D) to protect the operator from electric ,'
shock

Y—HUhT B g Ia9T T -

(A) 9fge 9 g & 989 § U

(B) &9 & =

(C) afaa & ura & e &

(D) stz &t fasrell % #eh & 9 % fog

47 Where appropriate use of cleat wiring ?
(A) Factory / Industry
(B) Modern House
(C) School / Hospitals

emporary functions ‘

ggh)zTamgm ;Ty Sfra sadm @@l & ﬁ-
(A) ¥y | T & (B) amygfid T 3
(C) et | ez & (D) s T

79P3| B

50

52

points.
(D) Difference O
poinl%m% ?
B)wwﬁgﬁqﬁqwa%ﬁ%&mﬁgﬁ
( frsg 1 AT @ |
(D) el & wea s &

Formula of Energy is - -
(A) (Power)? ./ Time (B) Power / Time
(C) Power  Time (D) Time / Power

f Resistance between two

ol @ AT -

(A) (eifF)2 | g7a (B) sifet | @99

(C) g * &= (D) &Hg | qiferd

The unit of electrical energy is -

(A) K.W. / sec (B) Watt — (sec)?

(C) Joule / sec (D) K.W.H.

forgga St &1 gobrg ¥ -

(A) 3=, | Gds (B) a= — (¥&s)?

(C) 5 / Hehs (D) %.ssq.T4.

One kilo-watt-hour is equal to - v h
(A)3.6 > 109 Joule (B) 3.6 x 108 Joule %\-

(C) 36 < 108 Joule (D) 6.6 x 108 Joule
Th fohar-ae—ammey quEt & —

(A)3.6 x 10°5  (B) 3.6 x 108 S@
(€)36 x 1085w (D) 6.6 x 108 5@

Kirchoff's first law states that at a junction
In an electric circuit -

6T % e foram TR, U fga uftuy &
SIHE [ gy gy -

MW XE+Fr=0 (B > E=0

O ¥r=9¢ (D) ¥ v=0
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"8
(1%
w

55 The armature resistance of a 6-pole lap

th

57 Maximum speed of a synchronous machine

(79P3] m

54 The full-load copper-loss and iro

T B U A9 e, A8, whe @ et

n-loss of @

transformer are 6400 Watt and SQOO Wat;
respectively. The copper-loss and iron-1®
at-half load will be reSpectively :
(AP1600 W and 1250 W
(B)13200 W and 2500 W
(C)3200 W and 5200 W
(D‘T)HGOO W and 5000 W
BB 6400 A Td 5000 a2 & | AT WS
T T BN uE wve ey &1 9 sHen B
(A) 1600 a2 w& 1250 a1z
(B),3200 == et 2500 a1
(€),3200 AR T 5200

AD), 1600 g T 5000 are

vl\"{._dpnd d.c. machine is 0.05Q. If the |

armature is rewound as a wave-winding,
what is the armature resistance ?

(A) 0.15Q (B) 0.10Q
(©) 0.030Q (D) 0.45Q

qﬁr{‘mo.os AH ¥ | 3T STEET @l i e
W -ZET I S G AT AR BT W
g 7

(A) 0.15 3 (B) 0.10 &
(©) 0.030 i (D) 0.45 i
In large alternators, the field winding-is-|

placed on the -
(A) Neither Stator nor Rotor

59

&5

58

(B) Stator

(C) Rotor iy
(D) Both Stator and Rotor (‘/“3/
T el ¥ Hies aiEghen @l Wi ¥ - 7

(A) T R W ok T T W
AB) ®eT

(C) Trex T

(D) R2X wd X aFl W

for 50 Hz is -

(A) 6000 r.p.m. (B) 1500 r.p.m.

(C) 3000 r.p.m. (D) 4500 r.p.m.

50 Hz & firg qeaeties wsii @i sifieaq fa
-

-(A) 6000 3T 4Y.UH.
(C) 3000 arT.dr.um,

(B) 1500 &t 9).um,
(D) 4500 & dr.um,

61

60 In permanent

In a twg wattmeter method of 3-phase power
Measurement, one of the wattmeter shows
Zero reading - 2

(A) When power factor is 0.5.

(B) When there is no neutral connection.
(C) When power factor is unity.

(D) When load in one of the phase is zero.

2 Rty iy 7T o e QT A9 W T

ey B DT g -

(A) g i aqorics 0.5 & |

(B) @ =za ax 7 @l & |

(C) 7 gife ot gFel & |

(D) 5w %1 & WS A |

To extend the range of ammeter -

(A) a low resistance is connected in parallel
with it. :

(B) a high resistance 1s
~with it.

(C) a low resistance is connecte
with it. _

(D) a high resistance is connected in parallel
with it.

@Wﬂ%@mﬁwmﬁm

(A)Qﬂﬁwnﬁwmﬁawﬂaaﬁmﬂw
¥ ofreT o & | '

(B) U wed M &1 Wiy THIET % |iE SJue
¥ Sret S € |

(C) Ueh &q | 1 Ui THEX & 1y e
¥ SieT S # |

connected in series

d in series

&D)@mqu%‘ﬁaqﬁaismum

CEC T 1

magnet moving coil
instruments damping torque is provided by-
(A) Thermal Effect (B) Eddy Currents
(C) Air Friction (D) Fluid Friction
IR Jaeh T el dw § Srawe gesgel
feran sen & - |

(A) ardE 99 g0 (B) HaX g &

(C) arg =wdv1 &1Q (D) a3 =1 &I

What will be the reading of Megger, if the
measuring terminals are open circuited ?

(A) 10,000 € (B) Zero

(C) Infinity (D) 500 Q

gfy T WE 9T e gw ¥, 99 9T g
& @ e QfET @@ e

(A) 10,000 €2 (B) =@
(C) ard (D) 500 Q
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a2 For Propep
of power
(A} Eithep Single o
(1) Ninge Carthyy dﬂ
YD Youble” mlthm :

Jdt\[\tcd

*mah EE
& o
A T A g

Qart hill 2
]tllpmuu

"l 1% :

8 are nl\\a\\
S\Witches n.unnc.un.d m -

(\) Neutral op E:

KB) P hd\c Wire

(©) Neutral wire

D) Earth wire

STHI & iy

WS ST Y T % e Ry Gkl

() =g STIST - Hvd T

B) % o §

(O) === A ¥

(D) -—Hudhs ar §

The full form of CFL is - _

(\) Compact Fluorescent Lam]:l)-

(B) Coated Filament Lamp

{C) Compact Filament Lamp

(D) Coated Fluorescent Lamp

CFL & Q7 91 ¥ - |
(A) BT TRET a9

(B) @ies fpam= @9

(C) sz e o

(D) BIZs FIET T

ent used in a Halozen lamp 15 made

mmmued by the |

o4

65 Filam
up of -
(A) Ureka
(C) Nichrome
Eare @ H 9gH

(B) Tungsten
(D) Magnin

68

_(B) TTEA
(D)ﬂﬂﬁq

(A) gL
(C) =

[75%3)

e should have -

al voltage > al resistance
[dea o ntern
A) Mio - nternal resistance
ﬂ) Zfﬁmle internal resistance
0) Eaﬂe calue of em-f-
(‘.-x}f{'m ; .
(B T it A
ey fgad
rce is delivering maximum
w her: 1‘; f{?eu load. the efficiency will be -
pm‘,;a I @I ATDAH qTferT WE HY T E
zeral BRI —
b 0 (B) 50%
(A)25% »
(C) 100% (D)y99%
The current flowing through 1£2 resistor
connected between B and E in the circuit
shown below is -
A B
1Q
& 1Q2
| |
_ | |
£ D
(A) 0.25 Ampere (B) 1 Ampere
() 0.5 Ampere (D) 10 Ampere
%%“W“ﬁqﬂﬁﬁSBwEa‘am
B . R Eq”
1 T
12 é 1Q W
|
[ e
2 - AN
(A) 0 25 5 D - o A
(B) 1 feqy =
(D) 10 ufgey e
2
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on
exaitﬁtlo

. en
69 Ina synchronous machine. wh

is increased, then -
(A) Both Field and Arma
increases. S
(B) Field current increases-
(C) Field current decreases:
(D) Armature current increases ¥ g L
Th qrawife moia & o S
EIG| %, a9 - ﬁﬂﬁ %l
(A) By wd st 1038
- (B) i yrr g5 T 1
(C) Bies oy &9 & TN € |
(D) smmife ary 95 wnd B

70 An over-excited synchronous motors
power factor as -
(A) Depends on other reasons
-(B) Leading
(C) Lagging
(D) Stable o
TBIeH [ & A FaeH ‘v’f et @
T T gt @1 B 7
(A) a1 el ot Ffy (B) AT
(C) gs=mmh (D) fer

71 The speed of the synchronous machine
depends on -
(A) Rotor Resistance
(B) Supply Frequency only
(C) Number of Stator Poles only
(D) Both Supply Frequency and Number of

Poles
geaaiad Fe @ A fiR e E -
(A) T Jidty 93
(B) dae Hg ST T
(C) ¥ BT A # wE W
(D) weg g e yal &t g aFf qr

72 Which of the following is a source of nop-
conventional energy ?

t
re curf®”
tu

has the

(A) Wind (B) Natural Gas
(C) Coal (D) Oil
ﬁwﬁféa?mmth~wwmamfgﬁﬁ%?
AA) T (B) Thiw 4y
(C) ®rgan D) ¥
79P3| W

73

75

76

AA) Tut e

A moving coil instrument ¢
measure - :
(A) Only high frequency (;urrent

Irect current only
(C) Alternating current only
(D) Both Direct and Alternating current onl
AR F3el o1 B ST ReT ST ey %}i
(A) Haw =7 amgf ama T & g
(B) B e g1 A ¥ R
(C) S weamedi a0y & fog
D) Baw fseur v st an Ay 3 fom

Creeping is the phenomenon which oceurg
n -

(A) Energy meter ~ (B) Ammeter
(C) Voltmeter (D) Wattmeter
e ¢ wem % < afa e E -
(B) THreT ¥
(C) dreedier & (D) aredier #

The wattmeter measures -

(A) Total Power (B) Real Power
«(C) Apparent Power (D) Reactive Power
Udh gredey A9ar & -

(A) Pri otfer (B) arafas s
(C) amwmdht orferq (D) wferamdy stfer

Three D.C. voltmeters are connected in
series across a 120 V D.C. supply. The
voltmeters are specified as follows :
Voltmeter A : 100 V, 5 mA

Voltmeter B : 100 V, 250 Ohm/Volt
Voltmeter C : 10 mA, 15,000 Q

The voltages read by meters A, B, C are
respectively :

(A) 60, 30 and 30 Volts

(B) 40, 50 and 30 Volts

(C) 40, 40 and 40 Volts

(D) 30, 60 and 30 Volts

39 Q. deeier & e gaar § 120 9w
.4 oyl & ST S ¥ | dieedied @
T § Ieaiiad fean T E -

Feefizt & : 100 die, 5 Afd ehwr
dreediet @ ;100 diwe, 250 H/awE
Sreedier @ ; 10 Hife whuae, 15,000 &
St o1, 4 Td @ ERT HEY: e A S
(A) 60, 30 qzr 30 dee

(B) 40, 50 T& 30 dre

(C) 40, 40 T 40 e

(D) 30, 60 TH 30 A

an be ygeq o
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i
- e

Ction of -
St OT the elecipq.
o Rti’:dhe.m.f. 1S determirfeldo I;“agnelicauy
B) p1ox Hand Thumb gye™ " @
< gg:!ng s Right Hang Rule

Ing's Left |
S L land Ryje

Frafo fear s 2

(B) AR o1 2o o s

(D) &=t Fram &

The coefficient of coupling of two coils is
proportional to -

(A) I/LIIQ (B) L1,

© JoL , () /Il

The self-inductance of a solenoid of N-turns

liﬂ?r a3, & fray o

1 tional to -

-

(A) 1I/N (B) N ,,
.(C) N2 (D) 1/N?

orP3| N

B - ll
181 The 51!"0 voltage’

e

.. arc welding is a-

tric _ :
e current discharge
W

.oh current discharge
o current discharge
- oh current discharge

aﬁgﬂﬁmaﬁamm

mized 9

oltage’

. onis used ?

- hraking is USe 4

fj\)bgyn amic’of Plugging
©) plugging

(D) Regeneratlve

W%meﬁ%ﬁm,mmaﬁ

e =~
7

(A) Tk aFerT
(C) "ﬁﬁp—[ N Ol

(D) g

ncy control

5

| g3 The concept of voltage / freque
) of inverters driving induction motors results
in- .

(A) Constant torque operation

(B) Harmonic Elimination

(C) Reduced Magnetic loss

(D) Speed Reversal

oy witex HeTe % g Y # deedn | IR
foer et @ e afvom et B ¥ -

(A) gaH Fasmel T

(B) g e IHET

(C) &9 gadE T

(D) 7 Fere .

84 A diode when reversed biased acts as -
(A) Capacitor (B) Open switch
(C) Closedlswitch (D) Zener diode
= & =0 ¥ e g & - '

(A) genfgr -
(B) gem Rew
| (C) = Ray Oy e it
11
P.TD.
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Lissajou.s [
85 In an oscilloscope; the ,0
figure is shown beloW *
' ‘onal
it 5igh
el 0PV ot
What is the ratio of V.em(ﬁy_,o (al 1P
frequency to that 07~ );?F:I
frequency ? aﬂ?ﬁ [ftﬁfrf
e Arererdl wT Tl ferer
femmdy 7 %
‘. e
amgfa @1 g # 8
(A)3/5 (B) 372
(C) 2/3 (D) 5/3

. A
ue of series resistan

of
required to extend the 0-100 Volts range

r?
a 20,000 Q/V meter t0 0-1000 volts
0-100 drez ot wd 20,000 ST I

86 What is the val

90

91

drezdzr &1 0-1000 dFE AT € ‘T@W:"
T G aayad giaad &l q ] B
(A) 20 MQ (B) 10 MQ

(C) 18 MQ (D) 15 MQ

87 Multimeter cannot measure -
(A) Resistance (B) Current

(C) Inductance (D) Voltage
FgaTdl A A9 GehaT —

(A) wfatig (B) =
(C) T&E (D) fawa

88 Which of the following motors has high
starting torque ?
(A) Compound Motor
(B) D. C. Shunt Motor
(C) D. C. Series Motor
(D) Both Series and Shunt Motors
e % @ @ & fre arg e g
FaaTul ot gar & 7
(A) HgFT 2T
(B) 1. &Y. i Hex
(C) & &1 9oft ey
(D) stz ud 4vfi qre g

STEATl

| 92

79P3| W

12

) Inductance

‘i_ "' i *W%chmq S 4
T & ﬁ‘?#nmm;m

! ﬂd‘ﬁ&an%

The maine:
trmeci HOTILY charge carriers in an NPN
ansistors are -

A) Electrons

(H‘J Holes

(€) Trivalent atoms
(D) Pentavalent atoms

“‘f,t?rm}rnﬂwv T AZEES AT ATEE 2 E -
(A oz (B) #r7m

(C) B oy (D) deEdT o
When a P-N junction diode is reversed
Bl'a_scd the thickness of depletion layer -
(A) Remains same

(B) Increases

(C) Decreases

(D) Can not determined

W4 UF 904, SesE IEE & A Aeed
febam stmar 2, Ta fewhem A @ A -
(A)gum w=di 21 (B) @edl & |

(C) Tedi % | (D) =T &l w1

‘The value of current gain (ﬁ) in the circuit

'shown below is -

ey foram T fae & v ™ (B) @1 Zrm—
+10V

5K

V=17V

5K

~10V
(B) 165
(D) 160

(A) 164
(C) 120
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(B) ffera
(D) zwy %@a

) H devel,

hat should
of current in the coil

1pere / second

" Inductiy
’ltage of
Change
-) 0.2 An
)y 5 Ampere / second
D> 1 Ampere / second
') S00 Ampere / second
T B un i

S 251r c
be'the rate

T

5
@

qiFgET /b (D) 500 T dee

coil has a resistance of 10 and an
. ; ce of 1 H. what wi]l_be ‘Ehc va_hne of
IUCt-‘rtan 1 second after switching on to a |
-rent O. i

;9 d
WVolts d.c. supply (B) 6.62 Ampere
D) 4.4 Ampere
gﬁ,ﬁfa 10 & T mé
@1 50 dee A TG

13

e
i | .
..... - 1t Economiser 13 o
1 pow o Air
¢ B) ter
the m ( Feed Wa ;
% In ?leata‘i ; (D) e ? i
() €% Gases, gaﬁﬁ'?% ol
©) FV° e ¥ @™ -
et T o L AL
?A??rﬂ ' OV < et
| . spec
g - wer plasis e house
99 In & pl(l)cd by (B) Val\"?l. house
cOﬂtl’or rGSSu] (D) Powe ik .
& éﬁ,veﬂﬁ%@ oy fer 1 o
( = .

W AR
et f (B) ared BT Sy
(A) Wﬂaﬁ%ﬂﬁa (D) 1er's

y > Consun
(© which C-O‘mef’tsl t}];known as -
Conductors’d'stribuﬁon ling ders
109 terminal 10 r&lains (BRED al Cables
ice- Genera
Y )) }%?;frlibutors (D)Eﬁ«.{ frqor @Ed
(€ -~ CARER
e Sl A
o Pred
A e R SR f
(©) . . . i culators are made of -
101 Tl-ﬂn51ni(s_181011 line lnSLE Ig_) DBt
(A) PV.C. (D) MiCa % )
(C) Glass ; 91T WA
SrfeT (FETEOT) TET A

ﬁ?T:ﬁv(sﬁ % (B) drft LEE?
(A)ﬁ% Ay (D) &19%
©) '

' ' isolators, when-
ircuit is disconnected by isol:
5 &31{1333?5 11150L current in the line
(B) line is energized
(C) line is on full lpadOt open
et 0
o i, o 10 o e o
G'a'_
(A)@gT § &I 9T yarfed A1 & W 8
(B) 7 Sfsfd &
(C) @rET qof &re ux &
(D) ufewer Rrdireres @am 1 21

103 Which of the following medium is employed
for extinction of arc in Air Circuit Breaker?

(A) SF¢ Gas (B) Water

(C) Air (D) Oil

g iy Ry § and ay faga & ¥ fao
B & & @ mem srig g7

(A) T8.0%, ¢ (B)

(C) & (D)
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104 Bundled 'conducto

rs afe’ ‘.Jsl.eiduc
transmission lines prin‘?fill?fszigr ;’s
SS 7 0

O oo DI G 18T
geet et @ .09 4 uﬂl{“ﬁq ol
& Frr 3 @ R 39 B0 e
(A) BT B (B

ik 2R
(C) @eear ard’ (15_}:} o Jemand
105 A generating station hasa 1}}2}8{;} and 2 Pla.l‘?t
of 30 MW, a load factor :})'n: eserve capacity

capacity factor of 50%:The"

of plant is - 3
(A) 10 MW (B) 5%&’ ﬁ
(C) 4 MW D) 6 &

SR g § 30 A @ A T
60% @ W et e 50% Egﬂﬂz
o & | ¥ A o ST

(A) 10 7 e (B}

©4wmare Do al
H .-..'-i . I'
106 The daily energy produ td m ]?,aiih?acsz

power station is 720 M’W‘H_m a .
of 0.6. What is the maxifhum dem
the station ? ny
(A) 50 MW (B)40 MW
(C) 72 MW (D30 MW 06
U AT UTER R ¥ St ard o g
% WIT T W 720 T e S € | &4
aftrpam AT AT E 7 YT
(A)50 ¥ are o (B)40 W AR
(C)72 Fm are  ¥{(D)30 wm A€
107The ABCD constants' of a 3-phase
transmission line are™" "
A=D=0841° ' @=0002£904°0
B=170/85° Q1 ;CP
The sending end-valtage is 400 kV. The
receiving end voltage under no-load
condition is - :
(A) 418kV £ -20° (B) 320kV £ 45°
(C) S00kV £ —1° (D) 400 kV £ 20°
A T WERYT @13 b 1AL E Reties e
g ae -
A=D=08Z1° ' C=0.002£904° 0
B=170£85°Q :
Sor R OR e 400 .4 ¥ | w

_ _ 9L % | Wy
(A) 418 H4r. £ -20° (B).320 %4, £ 450
(C) 500 4. £ —1° (D) 400 % & / 20°

79P3| W

M‘*—-\_
108 The
POwer fa¢
&)L_C CircuitaLitSOl: : f}‘f'sona,me in a serieg
0.7 iy o
'(qSE) Zero "%IB))) IOJI;IID’
ki_@m R-L-C ¥
i o T ST T g
(A)oy :
(B) g
() TH g (JD) 0.5

1091y pure inductive AC }circuit -

Eg\)) :;(Jllage leads the current by 180¢,
! oltage leads the-current by 90e.

(C) Current leads the -voltage by 90°.

(D) Voltage and current are in phase.

U 8 s w . aftee ¥

(A) Sieean, o & 180° ot <zar & 1

(B) @iwean, ama §90° o wear ¥ |

(C) am, drean & 90° amt tear ¥ |

(D) Sreean we o wem & B9 ¥

| 110 Which of the following relation is not true

for power factor ?

_ Ampere True Power
(A) (B)
Voltage Apparent Power
~ Kw Resistance
) = [
KVA Impedance

?ﬂﬁréaﬁﬂmﬂﬁm qTfeR TR o fQ ara
¢

RIES]

(A) s L) TR —
PIREUCH
©) FHa D) S

111 Power factor can be increased -
(A) Using Synchronous Motor
(B) Using Inductor
(C) Using Shaded Pole Motor
(D) Using Repulsion Motor
Qe HaT B gETEn S HA T
(A) g HZT &

(B) WX ERT
(C)ﬁ%’gﬁiﬂﬁﬁ'{m

(D) Feaeed e &

[ PTO.
14 |
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113 The polarit
generator cap
direction of -
(A) Either R

_ otati .

(B) Field Fluxa:;f]n, or Field Fluy

(g) Rotation only .

é’r%ﬁBom Rotation ang pieg Fl

e @ g
ST HehaT ¥

o s 3 T R )

114 The condition of maximum efficiency of the |

transformer is -

(A) Copper losses = (Iron losses)?.
(.B) Copper losses are zero,

(C) Iron losses are zero.

(D) Copper losses are equal to Iron losses. |

gt @ arfead g @ Rafd ¥ -
(A) BT BT = (s =zt |
(B) &z zihEl s @ |
(C) wire =il = & |
(D) a T& e il et
115 Silica Gel is placed in -
(A) Bucholz Relay (B) Breather
(C) Conservator (D) Inside the tank
fafereT Srer @ W —
(A) gt e & (B) #CH
©) mmaz (D) ¥H & I

(79P3] W

former the prim
t;?y“s voltage vectors a{:?f
d (B) 180° apart

(D) In phase

has®
1161In a sit€lcsecon
. ducf
and INCU~ " art

factor is-
! ; motor the powef
117 For an illd““:t":’rl (B) Very high
(A) Zer© (D) Unity

(C) Very love, & af =

et M@?T g‘? (B) dgd arfre BT ¥ |
(A)ZRT a1 (D) T B

(C) s&d motor rotor.SIO'fS are skewed

11470 a0 1 f skewing 18 -
current
of Copper
ion in Iron losses -
d locking of motor and reducing
noise

Wmﬁmzm@fﬁﬁmmm

¥ g WY € -

(A) gENITT T ST

(B) & §9d

(C)ﬁﬁgmﬁtﬁﬁzﬁﬁi

(D) AreX 9T &H HTT
ygf &1 UH T

119 The starting current of a 3-phase induction
motor is 5 times the rated current, while the
rated slip is 4%. The ratio of starting torque

‘ to full load torque is -

| e ST AT Bl JESTR 8T, W U

@ 5T & ud s Rew 4 wfoea ¥ @ A

gﬂa&ﬁw&n@awwﬁﬁgaﬁaﬂ@aﬂw

(A) 1.4
(C) 0.8

uction

(©) ;
(D) To avoi

Td HEX @b B @

(B) 0.6
(D) 1.0
120 The rotor power output of a 3-phase

induction motor is 15 kW. Th
losses at a slip of 4% wi.ll b'f:e I_‘OtOI' S

(A) 700 W
(©) 650 W DY o5
Wl ST HiT
SRR 1450 e
(€) 650 e (D) 625 o

15
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